[ ]
~EPIEA A T80l on Bl s Ao oies i

&
S /A 0/0Ix]

NP glg
frei

= E A3k
LIAF 22| 1.4305.
2 El1.4034.

= B FstEx| oE:

LEAL & 22 1.4305.
Ea E 1.4305.

A& 212l 1.4305, O|Ml 3| & 2.

#M OR2]:

2™, & E ot

4.

QHlA ZRHX £ S Eof o3t &2 2zl
HZAS Yx|siof stE 2ol AISE.

HM EEE +EE EFCIEHE
fIXIZ OlFE = UB.

HZ EEE ZXo|7| Qs A3 7 2l tMHE
2 = A LA S HAZY =

otZoiA ZoiM 5 Elo| &Rz
MURTF

=0 A
etel G: &2 1E 8l
ebel H: &2 e g

1) &3 BE ATR Ol oHd 93

H
i

© ® 0)

D2

' — ) —

D1

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
= =y | —

AH|CIRA B ORI0] 12 STX|7} §l= 2|12 A ol A
]
Sex
§E ROI:
oluA EEX] AE|QIA A EIK| 2

=D Bs SR AME Efgf E@H@ D D1 D2 L L1L2 AEZ3 SW Fx30° A& Et A FE HS

7|8 &R S EbN EE AR QM
F1 2 N F2 2. N

K0634.001903 AEIQIEIA AE G FZE 3 M6x0,75 14 3451714 35 - 08 45 10 K0344.99
K0634.001004 AEIQlEA AR G 43 4 M8x1 18 43 2118 4 - 1 6 12 K0344.90
K0634.001105 2AEIQIEIA AR G A3 5 M10x1 21 50 2421 5 - 1,3 5 12 K0344.91
K0634.001206 AEIQIHA AR G z3 6 M12x1,5 25 59 2825 6 - 1,8 6 14 K0344.92
K0634.001308 AHIRQIBHIA AR G 33 8 M16x1,5 33 77 3633 8 - 23 15 35 K0344.93
K0634.001410 AHIQIHA AE G Z3 10 M20x1,5 33 83 4033 10 - 28 15 34 K0344.94
K0634.001412 2EIQIEA AE G 75 12 M20x1,5 33 87 4233 12 - 28 15 39 K0344.94
K0634.001516 AEIQIEA AR G Zs 16 M24x2 40 106 5040 16 - 32 20 46 K0344.95
K0634.111903 AHIQIEIA AR G H|IZSE 3 M6x0,75 14 3451714 3,5 - 08 45 10 K0344.99
K0634.111004 2EIQIBAAE G HZEE 4 M8x1 18 43 2118 4 - 1 6 12 K0344.90
K0634.111105 AHIQIBA AR G HZ@sE 5 M10x1 21 50 2421 5 - 1,3 5 12 K0344.91
K0634.111206 2EIQIBA AE G HIZEE 6 M12x1,5 25 59 2825 6 - 1,8 6 14 K0344.92
K0634.111308 2EIQIBIA A8 G HIZEE 8 M16x1,5 33 77 3633 8 - 23 15 35 K0344.93
K0634.111410 AHIQIBA AEl G H|ZS 10 M20x1,5 33 83 4033 10 - 28 15 34 K0344.94
K0634.111412 AHIQIEIA AE G H|ZS 12 M20x1,5 33 87 4233 12 - 28 15 39 K0344.94
K0634.111516 2EIQIEIA A8 G HIZEE 16 M24x2 40 106 5040 16 - 32 20 46 K0344.95
K0634.002903 AFHIQIHA AEl H 43 3 M6x0,75 14 3451714 3,5 10 0,8 4,5 10 K0344.99
K0634.002004 AHIQIEA AR H Zs 4 M8x1 18 43 2118 4 13 1 6 12 K0344.90
K0634.002105 AHIQIBIA AR H zs 5 M10x1 21 50 2421 5 17 1,3 5 12 K0344.91
K0634.002206 AHIQIBIA AR H PEL 6 M12x1,5 25 59 2825 6 19 18 6 14 K0344.92
K0634.002308 AHIQIEA AR H Zs 8 M16x1,5 33 77 3633 8 24 23 15 35 K0344.93
K0634.002410 AFHIQIHA AEl H 43 10 M20x1,5 33 83 4033 10 30 28 15 34 K0344.94
K0634.002412 AFHIQIHA AEl H 43 12 M20x1,5 33 87 4233 12 30 2.8 15 39 K0344.94
K0634.002516 2~HIQIEA AR H Z3 16 M24x2 40 106 5040 16 36 3,2 20 46 K0344.95
K0634.112903 AEIRIBIA AEl H HIZA8F 3 M6x0,75 14 3451714 35 10 0,8 45 10 K0344.99
K0634.112004 AFHIQIHA AEl H HIZ3 4 M8x1 18 43 2118 4 13 1 6 12 K0344.90
K0634.112105 2EIQIBAAE H  HZE 5 M10x1 21 50 2421 5 17 1,3 5 12 K0344.91
K0634.112206 AEIQIBIA AEl H  H|ZES 6 M12x1,5 25 59 2825 6 19 18 6 14 K0344.92
K0634.112308 AHIQIEA AR H  HZ@st 8 M16x1,5 33 77 3633 8 24 23 15 35 K0344.93
K0634.112410 AEIQIEIA A H  HIZS 10 M20x1,5 33 83 4033 10 30 2,8 15 34 K0344.94
K0634.112412 AEHIQIBIA AE H HIZ& 12 M20x1,5 33 87 4233 12 30 28 15 39 K0344.94
K0634.112516 AHIRQIEIA AR H  H|ZSE 16 M24x2 40 106 5040 16 36 3.2 20 46 K0344.95

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



